Points A, B, and C are collinear. Point B is between A and C. Solve for x.

11) AC=3x+3.AB=-1+2x.and BC=11. 12) AC=22.BC=x+ 14, and AB=x + 10.
Find x. Find x. %
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A X i

YHY$ X+ = 27X

A 4343
24 =24
AX=-A

X ="l



Solve for x.

13) N x-6 g 2x-19

ML

|t

X

23

NMEMLY L= V1L
X-G+9+2%~19 =2
Sx-16=23
Sx =39
X=13

14) P 13 6 2x-18

’-i
e
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4x-29
ST+TU+UV=SV
15 kG FAx—18= Ix-29

2xX ¥ =9¥-249
~ 4% -bx

~AX -l-'l:'.—;l_ﬁ
N ALY
X=15



Find the length indicated.

15) Find CE
3x+47 10
B! o . | E
C D
B 27+x -
e >

x+26

LE=QRE

Lpt D& = e+ CE

QATIX FID = Ix+H4 T+ %t 26
a7 = TR

37 =JR+TD
- 723 i,

= =B R
X = =1

BRC = Sxaur
£n = 8
bD= 27+¥
C E= X+26
Dg = /0O
CE=-1x+2¢

= 14






Protractor Postulate

Given BA and a point C not on ﬂ,
a unique real number from 0 to 180
can be assigned to BC.

0 is assigned to BA.

180 is assigned to BD.




Use the diagram to find the
measure of the following angles:

<AEC = /o5°

<AEB = 47

D

<AED = (%7



What is m£ZBEC?
= ZAEC=bS  Whatis the m<CED?

L AETS= YT

D i nEC-mlAEC-mIAER
= /05_L[7

o

=258

|50 - 105
25



Angle Addition Postulate

If point D is in the interior of LZABC, then
m£LABD + m£ZDBC = m£ZABC.

...

C
D

A

Then...m£ZLABD + m£ZDBC = m£LABC



1) Find mzKIM if mzKLB = 26° 2) Find m«FGH if m«FGB = 105°

and mzBLM = 60°, and mzBGH = 54°.
QN y wl EGH =mlFG B
G A A:
XL )
ml LIS +md LM = ml kLM . 5+ S
26 00° = L EaH = 5]

267> mlELm



17) Find mzHIW if mzWIJ = 10x,
mzHIJI = 145°, and mzHIW = 2x + 13.

Ml ST wtmdWLH=ml STH
lox +2Ax+13=]45
l2x+1d =145

[dx =]\
Xzl

MCHTW = Ax+I5

2015
RAFIS
x5

18) mABC = 17x + 8, mzABK = 42°,
and mzKBC = 12x— 4. Find mzABC.

A
K

B

méﬁf‘;ﬁ: MZABK'PMAMJSC-
1Ix+g = d+lax-o

|7x49 = 12x¥58
= RX

~Jdx
$x19=>%

Sx= 30
X= G
MmLATSC= Ix+ %

[7(0)+8
63 13
o



19) mzZHG = 11x— 1, mzIHZ = 24°, 20) mzGFN = 4x + 10, mzNFE = 14x + 3,
and mzZIHG = 12x+ 13. Find mzIHG. and mzGFE = 157°. Find mzNFE.

G H m{THG=133% E F

MAIHG'I:'MA GH?;*I'MZ,%HI
laxris=  lix-] 429

[AX*+ID> =[x+25
V=10



